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Please make sure that the printed pages in this question paper are 15 in number
and it contains 34 questions.

o geT-gx # qEd R # FR RT T BE T T He F GF FO-JRH F JEI-TT T
fored

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o A FIT F FOT 0@ @ B G U0, JoT F BHE AT G
Before beginning to answer a question, its Serial Number must be written.
o JUT-GRaGH @ &9 F @il T T S

Don’t leave blank page/pages in your answer-book.

o FUCGRTH F SRET Fig o e TE A o snavIEarar & ki@ ot krar Jav T
Fe

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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o GRS SyEr Ud To HT-YH GT HE9q [1@ U do & ffaRHT FIT-9H 9T AT G A 7
ferd ST g Fedl & I UT Frdf FHIT 9T T T
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
lype questions.
o FYI g F G @7 @ §F 77 ghkaT a7 & & wse-97 g 7 @8 2 qhwr # 9o 59
T 7 FE o @ e To A aEam
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

qrE e -
General Instructions :

(i) oo T SfEry 8

All questions are compulsory.

(i) $GF7T 7 7 Z7 34 97 2 T AN GV} o § G A W

This question paper consists of 34 questions in all which are divided into
four Sections : A, B, Cand D :

& - 5T G A1 716 7% F7T 16 J97 2 9% 557 1 7F # 81
Section - A : There are 16 questions from 1 to 16, each of 1 mark.

% - 57T T17 §22 0% F7 6 57 8, J9% 557 2 5% 7 &1
Section - B : There are 6 questions from 17 to 22, each of 2 marks.

&G - § ;37 @ 423 730 7% 7 8 F97 & FU9% H97 4 3HF # B

Section - C : There are 8 questions from 23 to 30, each of 4 marks.
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G - § : 57 @Y 7 31 @ 34 0% T 4 Y97 2, g% 97 5 3% F 8

Section - D : There are 4 questions from 31 to 34, each of 5 marks.

(i) @& - & 7 & 7 7 oRE e 7 77 81 377 7 @ 597 B gAT B

Section - D contains two questions where internal choice have been

provided. You have to choose one of them.

gug -

SECTION - A

1. F=fefed § § S@-df den aReg 7 2 7 1

(A) V16 B) o
(C) 10 (D) 0.35

Which of the following is not a rational number ?

(A) 16 B) o
(C) 10 D) 035
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2. I 26 AKX 91 # H.C.F. 138, @ IAH L. C. M. B :

(A) 184 (B) 183
(€) 182 (D) 181
IfH. C. F. of 26 and 91 is 13, then their L. C. M. is :
(A) 184 (B) 183

(C) 182 (D) 181

3. |ME x2+7x+10 & IIF B :
(A) (2, 9) (B) (-2, -95)

(€) (-2, 9) (D) (2,-9)

The Zeroes of Polynomial x%+7x+10 are :
(A) (2, 9) (B) (=2, -95)

(C) (-2, 9) (D) (2, -5)

4. 1 § FF-A g faam B ?
(A) (x+1)% =2(x-3)
(B) (x+4)° =3x(x+1)
(C) 4x?+5=(2x+7)?

(D) (x-2)(x+1)=(x-1) (x+3)
103/(Set : B)
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Which of the following is a quadratic equation ?
A) (x+1)% =2(x-3)

B) (x+4)° =3x(x+1)

(C) 4x%+5=(2x+7)°

(D) (x=2)(x+1)=(x-1)(x+3

5. ew T B T x— 2y + 5 =0 T 3x— 6y + 10 = 0 F & B : 1
(A) ifadT & & (B) I3 B &t
(C) oruRfT % & (D) =H § F§ T

Solution of a pair of linear equations x-2y + 5 =0 and 3x- 6y + 10 = 0 will be :

(A) Unique solution (B) No solution
(C) Infinitely many solutions (D) None of these
6. A.P.2,7,12, ..... % 1041 9 8 : 1
(A) 40 (B) 42
(C) 45 (D) 47
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The 10th term of the A. P. 2, 7, 12, ..... is :

(A) 40 B) 42
(C) 45 (D) 47

7. O B AL P. @ @90 ST 731 O FA: 5 K 9 F, T I 1197 U5 B 1
(A) 13 (B) 14
(€) 15 (D) 16

If 3rd and 7th term of an A. P. are 5 and 9 respectively, then its 11th term is :

(A) 13 (B) 14
(€) 15 (D) 16
8. 3T # DE||BC?I AD & T 710 Hifewq) 1

A

/\1.8%741
L Es
7'Wy \5.41‘;\:]1
B C

A

In figure DE ||BC. Find the length of AD. 1.8 cm

7.2

103/(Set : B)



L7} 103/(Set : B)
9. IfX I gHEd Bl & FFAGA 9 : 16 % YUK H B, o I G oAl H AJIW BT : 1

(A) 81:256 (B) 9:16
(€) 3:4 D) V3: 44

If areas of two similar triangles are in the ratio 9 : 16, then ratio of their
corresponding sides are :

(A) 81:256 B) 9:16
(C) 3:4 D) V3: V4

10. f&gat (-5, 7) 9 (-1, 3) % 19 # T 3 1
(A) 442 (B) 342
© 5v2 (D) 34

The distance between the points (-5, 7) and (-1, 3) is :

(&) 442 B) 342
(C) 542 D) 34

11. 39 fag & fconis, S fawgadt (4, —1) T4 (-2, —3) &I SHsA a0l (@EYS H ARIH @4
2:1% g H fawnforg & &, # 1
(A) [0,%] (B) [-%,0)
o o7 o (1o
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The coordinates of the point which divides the line segment joining the points
(4, =1) and (-2, =3) in the ratio 2 : 1 internally are :

o (3 o (39
o (13 o (39

12. S5sec’ A-5tan’ A % AN B : 1
-l (B) 2
€ 9 (D) 5

The value of 5 secz A-5 t-am2 A s

(A) 1 (B) 2
€ 9 (D) 5
13. ga & & fargell uv sfrede $ arelt 3@ # oo FBA B 1
A line intersecting a circle in two points is called a ............. ;
14. 0 HI I FoGEvE B G °Y H A4 2 1
nr 6 2nr 0
A) 180° o 180°
nr 0
(€) 360° (D) 8 & H TR
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Length of an arc of a sector of angle 0 is :

nr 6 2nr 9
A B
A 180° (E) 180°
nr 6
(C) T (D) None of these

15. 3R @6 fag P & O #% a0 @ g9 W PA 3R PB TR@N TT&T 70° & &9 T FHI

#, @ ZPOA ¥(EY B : 1
(A) 110° (B) 55°
(€) 60° (D) 70°

If tangents PA and PB from a point P to a circle with centre O are inclined to

each other at an angle of 70°, then ZPOA is equal to:

(A) 110° (B) 55°
(C) 60° (D) 70°

16. Brear 2.8 @ ard @Y & WA W THE FAGA B 1
(A) 98.98 TH’ (B) 98.56 §HI®
(C) 97.56 @H (D) 98.38 TH
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Surface area of sphere of radius 2.8 cm is :

(A) 98.98 cm? (B) 98.56 cm”
(C) 97.56 cm® (D) 98.38 cm®
s -F
SECTION - B
17. TN 5 3++/5 TF omidg g 8 2

Show that 3+ JE is an irrational number.

13.%%@%%%@%%mwmwzﬁimi% 2

Find the quadratic polynomial, the sum and product of whose zeroes are

i

1
—— and — respectively.
4 2 P Yy

19. k & 50 w9 % fom Feifoiaa s G & T & Fi5 50 7878 ¢ 2
Sk+ Y= 1

(k- L)x + (k- 1)y =2k + 1
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20.

21.

22.

23.

W) 103/(Set : B)
For which wvalue of k will the following pair of linear equations have no

solution ?
Jx+ y=1
k- 1)x+(k-1)y=2k+1

GRS AT @ TP 3% 9 5 90 @ T T 8, g0 H @@ 3t qan 4 9 51 ga
HI FBrogr s Hi 2

The length of a tangent from a point A at a distance 5 cm from the centre of the

circle is 4 cm. Find the radius of the circle.

k& 5 A9 & fog fEmg @it 2x + ke +3=0 % YA ST 8O 7 2

For what value of k the roots of the quadratic equation 2x° +kx+3=0 are

equal ?

52 gt B STl FHR BEl B TH a9 F TS A ¥ TP TN Fb AT B oAdrd 1 b
GBIl Ol 9T e I AIAehen S i) 2

One card is drawn from a well-shuffled deck of 52 playing cards. Find the
probability of getting a King of red colour card.

g -9

SECTION - C

M EAATH 1 TS TN AF 1 9o &, O O 1 & oca ot 81 AR &0 F 1 &g g,
ﬁw%a‘ra@%aﬁfﬁ:«aﬁﬂﬁﬁm 4
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24.

25.

26.

27.

(12) 103/(Set : B)

If we add 1 to the numerator and subtract 1 from the denominator, a fraction

reduces to 1. It becomes % if we only add 1 to denominator. Find the fraction.
for famma wietor & Tt it Sf o P it o9 ' 8, o B9 S i 4
9x? =
x~—6x+1=0

Find the nature of roots of the following quadratic equation. If real root possible,

then solve it :

9x2 —6x+1=0

e s arch Reoe Hend 6 @ v B 7 4

How many three digit numbers are divisible by 6 ?

18 #1 39 @F FHER @9 F FI0 B § 0 A F O U JIT g 2 a4 dX F gqq
f o g2 & 3T 31 31 @H B MR q T B fpat g0 W Mer @Y B aRX A @
Safe T @ TEE 24 H B 4

A wire attached to a vertical pole of height 18 m is 24 m long and has a stake
attached to the other end. How far from the base of the pole should the stake be

driven so that wire will be taut ?

R AN 3 FbQ, ak &g A(7, -2), B(5, 1) X (3, R) WGl 81 4

Find the value of Rif the points A(7, -2), B(S, 1) and C(3, R) are collinear.

103/(Set : B)



28.

29,

30.

(13) 103/(Set : B)
AR A, BAR C RS ABC & sfaaivr &, @ Resy @ 4

(A+ B) M
cos = sin—
2 2

If A, Band C are interior angles of a triangle ABC, then show that :

[A+B] &
cos =sin—
2 2

10 G B a1 ©F 99 # BIE ST B 9 60° F FHIV SN B G BeuEs H aand
T P 4

A chord of a circle of radius 10 cm subtends an angle of 60° at the centre. Find

the area of the corresponding sector.

UF Ad # 3 @ oK 5 el W F W AT A F F Aw ggmAr Ml o B gwd A/

i & 5 T - 4
(i) @ B,
(ii) o 78 B ?

A box contain 3 red balls and 5 black balls. A ball is drawn at random from the
bag. What is the probability that the ball drawn is :

(i) red,

(i) notred ?
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31.

32.

33.

(14) 103/(Set : B)

g -%
SECTION - D
7 Hlo B° Wad @ @ & TF F9d faT & REET &1 Ivae B 45° B ST 3G TE B
AT BT 45° B AT B FAR A P 5

From the top of a 7 m high building, the angle of elevation of the top of a cable
tower is 45° and the angle of depression of its foot is also 43°. Determine the
height of the tower.

Aqar
OR
fos @ifvg :
.,’M:secA+tanA
l-sinA
Prove that :
w:secA+tanA
l1-sinA
5 THI Brear @1 ©F ga difa] T F | 9 /Wl ¥ Ram oF g § 39 W weRar g @
T T qer IS FErgar A 5

Draw a circle of radius 5 em. From a point 9 cm away from its centre, construct

the pair of tangents to the circle and measure their lengths.

fdt Bl & 50 A # <6 Aol g Ram T B e S Agd o S 05

dfe Aol (59l #) | 500-520 | 520-540 [ 540-560 | 560-580 | 580-600

et FT dET 12 14 8 6 10
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(15) 103/(Set : B)
The following table gives distribution of daily wages of 50 workers of a factory.

Find the mean daily wages of workers :

Daily Wages (in ) 200-520 | 520-540 | 540-560 560-580 580-600

Number of Workers 12 14 8 6 10

34. O F 0F dYA U a0 B AHN H 8 gD 9 R @ H-uw v @ e Bl @
P B wars 14 B R ol gum &g 5 R soE o At S i 5

A medicine capsule is in the shape of a cylinder with two hemisphere struck to
each of its ends. The length of entire capsule is 14 mm and diameters of the

capsule is 5 mm. Find its surface area.

HEEl
OR

fBroar 3.5 G4 a@ 91 & O el b REHt B 5 89 9 OF dd $ &9 § g S
21 3 P HAE @ BT

A metallic sphere of radius 3.5 cm is melted and recast into the shape of a

cylinder of radius 5 cm. Find the height of the cylinder.
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